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NYS COMIMON CORE MATHEWATICS cURRICULUM  Lesson 1 Problem Set [IETF]

Name Date

1. Record the digits of the first factor on the top row of the place value chart. Draw arrows to show how the
value of each digit changes when you multiply. Record the product on the second row of the place value
chart. The first one has been done for you.

a. 3.452x10= 34.52

3 i 4 5 2
W W | 2 vl
3 4 5 2
b. 3.452x100= 345. 2
-3 || 4 1
____________ kf::;._{:fg.ﬂﬁ.—.?:';"---_-.
3141545

PO oo B— - e

HGE

d. Explain how and why the value of the 5 changed in (a), (b), and (c).

() The G beocame [0 times more valuabl, |
(b) The G became D0 times more vaball

LC\ The G kecame (000 +imes more voluabl,

Ilﬁ COMMON ' Lesson 1: Reason concretely and pictorially using place value understanding ny
CORE to relate adjacent base ten units from millions to thousandths. engage
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2. Record the digits of the dividend on the top row of the place value chart. Draw arrows to show how the
value of each digit changes when you divide. Record the quotient on the second row of the place value
chart. The first one has been done for you.

a. 345+10= 34.5

N
............ oS0 e . S S

Pk
3 4 5

__________ 20005 . | |
R

d. Explain how and why the value of the 4 changed in the quotients in (a), (b), and (c).

@ The Y became [ Hmes smaller
(W) The ¢ became (00 +imes smaller
) The 4 became [0 00 Himes smaller

W COMMON Lesson 1: Reason concretely and pictori i i n
! i y and pictorially using place value understanding
II&' i CORE to relate adjacent base ten units from millions to thousandths. engage y 1A13
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3. A manufacturer made 7,234 boxes of coffee stirrers. Each box contains 1000 stirrers. How many stirrers
did they make? Explain your thinking and include a statement of the solution.

1234 %1060 —+—712 13[4
- = l(/":f ‘q/" B

AR Clo |0

4. Astudent used his place value chart to show a number. After the teacher instructed him to multiply his
number by 10, the chart showed 3200.4. Draw a picture of what the place value chart looked like at first.

_g ?_ O o 5 L{/ (6*?-CDF ﬁ\
320Dl (hbte o

a. Explain how you decided what to draw on your place value chart. Be sure to include your reasoning
about how the value of the digits was affected by the multiplication. Use words, pictures, or
numbers.

Each digit i “ACte " shoulf be [0 Fimes [araer Haan “Before”

5. A microscope has a setting that magnifies an object so that it appears 100 times as large when viewed
through the eyepiece. If a tiny insect is 0.095 cm long, how long will the insect appear in centimeters
through the microscope? Explain how you know.

O0.0%5x (00 = 9,5 ] /ﬁw4ﬁ{5’
Z

\/éc?g

Ilﬁ’ COMMON Lesson 1: Reason concretely and pictorially using place value understanding

n
CORE to relate adjacent base ten units from millions to thousandths. engage y 1.A.14
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Name Date

1. Solve.

. st DTHO00 o i | 5

o sso0s10- D40 D —
p_— ¥ o e B Ll

2 aren. Oa B/ — R VA

2. Find the products.

192450

he humber of 22708 in [0 or
9 BL{‘OOO 100 o 1000 tells how many
c. 19,330x1000 = QJ%D;OOO (;uumns ‘!‘04—& e+ each g -

Gets mave

d. Explain how you decided on the number of zeros in the products for (a), (b), and (c).

a. 19,340x10

b. 19,340 x 100

3. Find the quotients.

a. 152+10= f%02

| 572 The humber of 2edS in (D or
b. 152+100=__ ! @ (DD or o)e) +€-‘15+th many
c. 152+1000= O' 152 %.lzmsﬂsm‘!'gv‘ég f‘ﬂ/\ YZISN d‘gl-l'

d. Explain how you decided where to place the decimal in the quotients in (a), (b), and (c).

Ilﬁ COMMON Lesson 2: Reason abstractly using place value understanding to relate ny 1 A.25
CORE adjacent base ten units from millions to thousandths. engage
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i,

4. Janice thinks that 20 hundredths is equivalent to 2 thousandths because 20 hundreds is equal to 2
thousands. Use words and a place value chart to correct Janice’s err

=

O AMOUN

5. Canada has a population that is about 1/10 as large as the United States. If Canada’s population is about
32 million, about how many people live in the United States? Explain the number of zeros in your answer.

el ) |3 21Q,QQ 0l O

y

J Y y AL

I Hi COMMON Lesson 2: Reason abstractly using place value understanding to relate ny 1.A.26
CORE adjacent base ten units from millions to thousandths. engage e
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Name Date

1. Write the following in exponential form (e.g., 100 = 10?).

s d
a. 10,000 = lD d. 100x100=[0000 = (D
3

b
b. 1000 = (D e. 1,000000=_O

y
c. 10x10= [O £ 1000x1000= [0O0DO0 = /Ob

2. Write the following in standard form (e.g., 5 x 10%= 500).

—r . assaine OCTEE
d. 7200000:10= 1200 s, zeats Dl

3. Think about the answers to Problem 2(a—d). Explain the pattern used to find an answer when you
multiply or divide a whole number by a power of 10.

The digihs sty de gave . Th moved s the et G muthp o
wad +D+|=? Vighdfo VIsien . Zjv?ei;e odded +othe. Nuwmbor. S

4. Think about the answers to Problem 2(e-h). Explain the pattern used to place the decimal in the answer
when you multiply or divide a decimal by a power of 10.

The digits sty dhe sawe . Thay Get moved b the Left Br mulbipliof;
owd 4ot vightfor Mvision - T{z dectmal awpars 4o wive o Jho k

Cight or (o M-

Iln COMMON Lesson 3: Use exponents to name place value units and explain patterns in I'Iy 1.A.39
CORE the placement of the decimal point. engage 2
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5. Complete the patterns.

»0m 03 O o 200 3000
b. 6,500,000 65,000 fggo_ 65 0065

e B0 gm0 PH5 s sas m
d. 999 9990 99000 19000 990000 A9T0000D
e. 0075 75 750 75000 1500000 750000000

=

Explain how you found the missing numbers in set (b). Be sure to include your reasoning about the
number of zeros in your numbers and how you placed the decimal.

Dwvide by 100 +o gt M2 nexT humber

g. Explain how you found the missing numbers in set (d). Be sure to include your reasoning about the
number of zeros in your numbers and how you placed the decimal.

Multiply by 10 to el -he naet number.

6. Shaunnie and Marlon missed the lesson on exponents. Shaunnie incorrectly wrote 10° = 50 on her paper,
and Marlon incorrectly wrote 2.5 x 10%= 2.500 on his paper.

a. What mistake has Shaunnie made? Explain using words, numbers, and pictures why her thinking is
incorrect and what she needs to do to correct her answer.

©) hought [p® maant (0% 5, bttt veally mamms 10x 0% 0¥« 10

b. What mistake has Marlon made? Explain using words, numbers, and pictures why his thinking is
incorrect and what he needs to do to correct his answer.

(W) 0dded wo 22v0s, which winld Yoe corect 14 vumber being mulbiplied
was a whole number. Smce it 1s o dlecimel, We veeds o mbve +h2, diojits

b columng 4o the o B making 250

CORE the placement of the decimal point.

i COMMON Lesson 3: Use exponents to name place value units and explain patterns in n
I enga_ge Y 1aa0
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Name Date

1. Convert using an equation with an exponent.

g
a. 3 meters to centimeters ’J)X ID = ?JOO cm
b. 900 centimeters to meters 300 -.'-!I)"L = 9 m
o
c. 8.1liters to milliliters ARAD g RIDD mi
537 milliliters to liters ';9)'7 - !D = 0-937 L

3
e. 90.5 kilometers to meters QDSY [D :%500 m
f.  Convert 23 meters to kilometers, ‘2 5-1-. “)3 = 0.07-3 km

g. 0.4 kilograms to grams Ooq X “_? 400 g
h. 80 grams to kilograms g{ ) == IDS Q.OQ kg

i.  Circle the conversion factor in each equation above. Explain why converting from meters to
centimeters uses a different conversion factor than converting from liters to milliliters, kilometers to
meters, and kilograms to grams.

Answers il vary .

2. Read each aloud as you write the equivalent measures.

a. 3.5km= 3 km S_D_D_ m
b. 1.23L= ' L } Q mL
c. 2.002kg= _2— kg )_ g

d. 3mL= 0.003 ¢

e. 3012g= &D_LLkg
0,02l m=  210em

CORE conversions.
Date: 12/31/13
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NYS COMMON CORE MATHEMATICS CURRICULUM  Lesson 4 Problem Set [E

3. The length of the bar for a high jump competition must always be 4.75 m. Express this measurement in
millimeters. Explain your thinking using an equation that includes an exponent.

45 m X [000 — Y750 mm

4. Ahoney bee’s length measures 1 cm. Express this measurement in meters.

a. Explain your thinking using a place value chart.

[ |4

Oo|4L
e

b. Explain your thinking using an equation that includes an exponent.

lom =16 = 0,01 m

5. James drinks 800 mL of water each day during his workout. Henry drinks 600 mL daily during his workout.
If James works out 3 days each week, and Henry works out 5 days each week, how many liters do the
boys drink in all each week while working out?

James + g00% 3 =12400
"‘LAV‘Y : ébD\c 2 :3000

3000
+ 2400 ;
5400

COMMON | Lesson 4: Use ex i icati i n
g ponents to denote powers of 10 with application to metric
Ilﬂ CORE conversions. engage y 1.A.51
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6. Katrina needs to tie ribbons around 10 flower arrangements for a party. Each arrangement requires 1.2
m of ribbon. She also needs 325 cm of ribbon to tie to the balloons for the party. If Katrina buys 15 m of
ribbon, will she have enough? If so, how much ribbon (in meters) will she have left? If not, how many
more meters of ribbon will she need to buy?

12 x 100 = 1 200cw

J%%é) 1525 0m = [5425om

1525 em Katving does nbt have-enough

COMMON Lesson 4: Use ex i i ny
g ponents to denote powers of 10 with application to metric
Iln CORE conversions. engage 1.A.52
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NYS COMMON CORE MATHEMATICS CURRICULUM

Name Date

1. Express as decimal numerals. The first one is done for you.

a. four thousandths 0.004
b. twenty-four thousandths O P O 2_ Lf
c. one and three hundred twenty-four thousandths [ . 7_)7_L{

d. six hundred eight thousandths O o (p 0 2
e. six hundred and eight thousandths (_g OO ° OO 8

o e 0OY
X .UM
h. 200 'Z.OO.C?DLI'

2. Expressin words.

2. 0005 Qive thpusandths
b. 11.037 _el_éauen owmd H\iﬁ‘\{-ge\/en -{%DUS&IMOH"'\S
c. 403.608 ‘PDU( l(\UW(l’?A ‘(’hﬁ?ﬁ and Six ]/IUMQA -@lﬂ‘f\“' —H\DUS@M'H/‘S

3. Write the number on a place value chart then write it in expanded form using fractions or decimals to
express the decimal place value units. The first one is done for you.
a. 35.827

tens ones tenths hundredths thousandths

@ 8 2 7

35.827=3XI0+5><1+8><(1—10)+2><(F10)+7><(ﬁ) or

=3x10+5x1+8x0.1+2x0.01+7x0.001

COMMON Lesson 5 Name decimal fractions in ex i n
II : panded, unit, and word forms by engage y 1.B.11

CORE applying place value reasoning.
Date: 6/28/13
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b. 0.249 _’{th o § ‘\‘?WH(\;WQ&HS ‘pﬂDUSGV‘&‘HA;

s ) “
| 9 |
DN = Lx75 ‘fq"rDD’LC“‘ D00

e sam g | ones | Lo rdhs WM\S Tosanddns

5\'7 \2- g\\\l \

57,281 = Sxlb + Tx [ +2x 75 #8% 75 + | ¥ 50

4. Write a decimal for each of the following. Use a place value chart to help if necessary.

1000 74 éqL
b. 5x100+3x10+8x0.1+9x0.001 — QBO.SOQ

o eximnezeamerxieax () ea(s) = Y2.07,034

a. 7><1O+4><1+6><(0)+9x ) r2x (

5. Mr. Pham wrote 2.619 on the board. Christy says its two and six hundred nineteen thousandths. Amy
says its 2 ones 6 tenths 1 hundredth 9 thousandths. Who is right? Use words and numbers to explain
your answer,

—[F\éw ave bsth carredt,

Py 2,617=2x1 + bx 5 + % s + Dx oo

IINE COMMON Lesson 5: Name decimal fractions in expanded, unit, and word forms by

, unit, n
CORE applying place value reasoning. engage y 1.B.12
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Name

Date

1. Show the numbers on the place value chart using digits. Use >, <, or = to compare. Explain your thinking
to the right.

34.223 @ 34.232

r17[7)

2
3

N[

71213,

0.8 @ 0.706
AN\

O

b

34

2. Use >, <, or=to compare the following. Use a place value chart to help if necessary.

a. 16.3 @ 16.4
83
b. 0.83 S et
100
B @ 0.205
1000
d. 95.580 @ 95.58
e. 9.1 @ 9.099
f. 83 @ 83 tenths
g. 58 @ Fifty-eight hundredths
COMMON Lesson 6: Com i i ing li n
3 pare decimal fractions to the thousandths using like units
II CORE and express comparisons with >, <, and =, engage y
Date: 6/28/13
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Lesson 6 Problem Set

h. Thirty-six and nine thousandths

4 tens

i. 202 hundredths

2 hundreds and 2 thousandths

j. One hundred fifty-eight
thousandths

158,000

k. 4.15

OOOY

415 tenths

3. Arrange the numbers in increasing order.

a. 3.049 3.059 3.05 3.04

3,04 3,049 2,05 3,059

b. 182205 182.05 182.105 182.025

192,025 |82.05 [82.105 [82.205

4. Arrange the numbers in decreasing order.

a. 7608 7.68 7.6 7.068

2.8 7.608 7.(, T.06%

b. 439.216 439.126 439.612 439.261

U612 4239261 4Y29.206 439.1206

II COMMON Lesson 6: Compare decimal fractions to the thousandths using like units
CORE and express comparisons with >, <, and =.
Date: 6/28/13
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| NYS COMMON CORE MATHEMATICS CURRICULUM  Lesson 6 Problem Set

5. Lance measured 0.485 liter of water. Angel measured 0.5 liter of water. Lance said, “My beaker has
more water than yours because my number has 3 decimal places and yours only has 1.” Is Lance correct?
Use words and numbers to explain your answer.

Lonce is wrong ecause Stenths i bigger Hhan U feuths, sp te
exta_ o deciwrl places do nIT change e Comfarison .

0. t€ 5

0.5 ose Aigits do not
change Y compr miSen

6. Dr. Hong prescribed 0.019 liter more medicine than Dr. Tannenbaum. Dr. Evans prescribed 0.02 less than
Dr. Hong. Who prescribed the most medicine? Who prescribed the least? Explain how you know using a
place value chart.

10.0l9

b
/

COMMON Lesson 6: Com i i ing li i n
4 pare decimal fractions to the thousandths using like units
“ CORE engage Y 1824

and express comparisons with >, <, and =,
Date: 6/28/13

© 2013 Commean Core, Inc. Some rights reserved, commoncore,org

This work is licensed under a
Creative Commens Attribution-NenCommercial-ShareAlike 3.0 Unported License.




NYS COMMON CORE MATHEMATICS CURRICULUM

Name

Fill in the table then round to the given place. Label the number lines to show your work. Circle the rounded

number.

1. 34

a. hundredths

3{2!0“‘“"’ -e.

2. 115.376

a. hundredths

528 4

15375 5

(1537 ¢

JoethS ]
gy i

| @
fe

| 115.376 5 S|

b .tenths

1 4

i

b. ones

b4

e
W\ v

“ C.OMMON N

CORE

Date:

© 2013 Commen Core, Inc. Some rights reserved. commoncore.org

1531 l

c. tens
L A
tend T

Sov'4

fiePs 4

c. tens
20 4
14116376

\0 T

v

Round a given decimal to any place using place value

Lesson 7 Problem Set

Date

= 2.l ones

tens 1s iTenths Hundredths | Thousandths
351 L
3|
210
Tens Ones |Tenths Hundredths | Thousandths
I |6 1.9 |71 b
1S | 3 i
1163 -7

11537

b
L
b

understanding and the vertical number line.

6/28/13
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| NYS COMMON CORE MATHEMATICS CURRICULUM s ) Lesson 7 Problem Set m

3. 0.994 Tens Ones iTenths Hundredths | thousandths
a. hundredths b. tenths c. ones d. tens
A A A A

L0 O To  tray 0T
295 T 9 + 5+ i

oqq _v_ ‘q -\; Y -V- :V;; Cﬂl{

4. For open international competition, the throwing circle in the men’s shot put must have a diameter of
2.135 meters. Round this number to the nearest hundredth to estimate the diameter. Use a number line

to show your work. 2 al '51:_) Y‘OUYWQS +0 'L.“‘f

A3
o i =S

2
9 .1 2L i.ls 2.4 2.15

5. Jen's pedometer said she walked 2.549 miles. She rounded her distance to 3 miles. Her brother rounded
her distance to 2.5 miles. When they argued about it, their mom said they are both right. Explain how
that could be true. Use number lines and words to explain your reasoning.

\onn toudedHo Jhe Neried Whole, While her Vorotwer (tundzd 4o e neagst ot

Pl |
_‘.QV\V\ M 5"‘0 |5 1 1% b :;:-:, Y ==

S i \ ' 1| ‘ f \
( - \ L1} \ T >
%"b"\'!'\f,f | I 14 ).'.9 ')_Ff-‘ L.L __ 17

Il COMMON | eccon

Round a given decimal to any place using place value l'ly
CORE understanding and the vertical number line. engage 1.c11
Date: 6128}13 mesraram|  This work is licensed under a
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fa -

Name Date

1. Write the decomposition that helps you, and then round to the given place value. Draw number lines to
explain your thinking. Circle the rounded value on each number line.

a. Round 32.697 to nearest tenth, hundredth, and whole number.

whble

—

- 148.645

|

\;I‘f‘tq‘] ‘l‘,lbb

2. Aroot beer factory produces 132,554 cases in 100 days. About how many cases does the factory produce
in 1 day? Round your answer to the nearest tenth of a case. Show your thinking on the number line.

M\ wssy, |

II COMMON

Lesson 8: Round a given decimal to any place using place value I'Iy
CORE understanding and the vertical number line. engage 1.c.21
Date: 6/28/13 : .
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NYS COMMON CORE MATHEMATICS CURRICUWM  Lesson 8 Problem Set

3. Adecimal numbgf has two digits to the right of its decimal point,) If we round it to the nearest tenth, the
result is 13.7. =

a. What is the maximum possible value of this number? Use words and the number line to explain your
reasoning. Include the midpoint on your number line.

_A_ . \ ’5 '7 ‘_{ because & 13750 1
rounds vp B 3.8

\,]):-H :-_-l 3.75

7 v ounds Adkn

b. What is the minimum possible value of this decimal? Use words and the number line to explain your
reasoning. Include the midpoint on your number line.

A
1S
4 1379

7]'114{ Swmalkest pregile #is 137
15

\ 4
COMMON — - n
Lesson 8: Round a given decimal to any place using place value y
II CORE understanding and the vertical number line. engage 1.C.22
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NYS COMMON CORE MATHEMATICS CURRICULUM

Lesson 9 Problem Set m

Date

1. Solve, and then write the sum in standard form. Use a place value chart if necessary.

2

a.

b.

1 tenth + 2 tenths = 3 tenths = ! 2 3

14 tenths + 9 tenths = 9‘5 tenths = 2 one(s) _?)_ tenth(s) = a . 3

1 hundredth + 2 hundredths = 2) hundredths = O ‘ Q 5

27 hundredths + 5 hundredths = &__J._ hundredths = _2)__ tenths _L hundredths =D*_31
1 thousandth + 2 thousandths = o), thousandths = D ‘ >

35 thousandths + 8 thousandths = ‘]Eithousandths = L+ hundredths _é thousandths = O' OL}B

6 tenths + 3 thousandths = ff)! 25 thousandths = I 2; QZO ;;
7 ones 2 tenths + 4 tenths = 7 (9 tenths = '7. @
2 thousandths + 9 ones 5 thousandths = C?( 207 thousandths = q . 00 7

Solve using the standard algorithm.

a. 03+082=_ [, 14 b. 1.03+008=__ .1/

0.30 |03
r D.32 + 0.03

e il

c. 7.3+28=__[[.! d. 57.03+208=__ 5%9.11

1.5 57.03
t .8 + .08

-1 59 .11

to a written method.

COMMON Lesson 9: Add decimals using place value strategies, and relate those strategies n
CORE engage™’

® 2014 Commaon Core, Inc. Some rights reserved, commoncore.org

Date: 5/30/14

3 This work is licensed under a
BY-NC-5A
Creative Commons Attribution-NonCommarelal- i Unported Lic 1

1.D.11




NYS cOM Mpﬁl,'qbl_z’gjmﬁjtﬂléifiﬁtfﬁ?ﬁu!';ial"_cUui"M"- i o MR LessonQProbIemSet Sel

e. 62.573+ 4328=__(glo. 90! f. 85703+12.197=_Y 7, 500
ba.873 £5.7038
fq,‘blg r}Q\slﬂf7
LG - 901 q7.4900

3. Van Cortlandt Park’s walking trail is 1.02 km longer than Marine Park. Central Park’s walking trail is 0.242
km longer than Van Cortlandt’s.

a. Fillin the missing information in the chart below. \JQ N Co{J‘\ C(n(_H' . \. Dl
- New York City Walking Trails 9\ B0
Central Park 2. SY2 km )
" Ccr\)‘((\\ PC&(\C ’ 0 ‘ ng
Marine Park 1.28 km i o’z .30 .
Van Cortlandt Park 2,30 km Qo 5H2.

b. If a tourist walked all 3 trails in a day, how many kilometers would he or she have walked?
2. 542 |
oy "—ﬂ\ej wowld walle 6.122 km .
+ 2.30
e 122

4. Meyer has 0.64 GB of space remaining on his iPod. He wants to download a pedometer app (0.24 GB), a
photo app (0.403 GB), and a math app (0.3 GB). Which combinations of apps can he download? Explain
your thinking.

A&de&'\“\)(ﬂ\j QO\Y'{'\' \i)\k\j ?.) QP?S \J€COLVL5€— —H\EA& e
0.A42 687 e counld get e ehoks app by ¥ se\
Bak he cony comBine & wikh anything , of he can
A eX Yhe pedomels and wavh app. Yogedher.

(),:,1‘-1‘5 0.403 0.
0.40 : o i
08 . ¥2r _0.403

O- A4? 0.703 O. 643
e X. X

COMMON ‘ Lesson 9: Add decimals using place value strategies, and relate those strategies

to a written method. engageny 1.D.12
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NYS COMMON CORE MATHEMATICS CURRICUWUM  Lesson 10 Problem Set m

Name Date

1. Subtract, writing the difference in standard form. You may use a place value chart to solve.

a. 5tenths-2 tenths= 3 tenths = “. '!

b. 5 ones 9 thousandths —2 ones = ?) ones Cz thousandths = 3‘ Ooq

c. 7 hundreds 8 hundredths — 4 hundredths = 7 hundreds L‘l hundredths = —' OO' OL}

d. 37 thousandths— 16 thousandths = Cg\\ thousandths = t_)_t OD”

2. Solve using the standard algorithm.

a. 14-07=_0.1 b. 91.49-07= _40. 19 | c. 191.49-10.72= IX0.7/
e

(.4 4 B o
«—*O‘l _.qé‘l:{\q lQI-M

e Be T2
DT a0 .79 = s i0
90 130.77

4. 7148-007=_"J+075 | e 6091-2.856=205.00%] f. 36131-2.841-35%.9¢4

S Y16 6 S0 1210 1s

0 (¥
T.14% Lo. 4Y @ dGI.BI0
- 0.07 ~ 5,850 - a.%4!

 —

4.07% 1. 054

strategies to a written method.
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NYS COMMON CORE MATHEMATICS CURRICULUM  Lesson 10 Problem Set I3

3. Solve.

a. 10 tecns-— 1ten 1 tenth b, 3-22 tenths c. 37 tenths—1one 2 tenths

106.0 B8 3.1
= 1P | S -z
—<9.9 0.9 A5

d. 8ones9 hundredths—3.4 | e. 5.622 —3 hundredths f. 2 ones 4 tenths—0.59
|z [ 15 [0

1 (o

% .09 g.c/sazz A 4@
" 3.4 piadii—— | GGl
“—\.(oq S+65 B [+ %]

4. Mrs. Fan wrote 5 tenths minus 3 hundredths on the board. Michael said the answer is 2 tenths because 5
minus 3 is 2. Is he correct? Explain.

Michoel 1s noY cocreeX . We 19 bub%ro\c)rmﬂ
omks dhok aren’t alke . The prdblem was g)gj

. W= =
\)iﬁ was \’\\N\KW\S rod the QYO\D\QM wet 6.5
= e
e
5. Apen costs $2.09. It costs $0.45 less than a marker. Ken paid for one pen and one marker with a five

dollar bill. Use a tape diagram with calculations to determine his change. : H 4 6 te
$0.45 $a.09 ¥$a.09 #8500
Pen [ § 209 oA ¥ .45 + 2.4 -4.63

Macked 7 = ®3.54 ] fs 5.;15(4 .03 &»0 37

COM ON | Lesson 10: Subtract decimals using place value strategies, and relate those n
CORE™ ‘ engage™’ 1oz
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Name Date

1. Solve by drawing disks on a place value chart. Write an equation, and express the product in standard

form.
a. 3 copies of 2 tenths 5)\ 02, - b. 5 groups of 2 hundredths S » 0.0Z = O ‘0
ones {tenths  ©°@ NS l tenshs el hs

® 9

co *

g A OD‘"\ 10’ aq

c. 3times6tenths 24 X O.Ep = I,E d. 6 times 4 hundredths

@ covee® 0
®o ® o 0/ &

ones | tenshs Ones § tenths | d(tc\#\s

= r -
e. 5timesasmuchas7 tenths 5'3\ D.T—'- 3.5¢f. 4thousandths times 3 OOL\ - O .0 V'L

ones | Yenths | hundredhs | Jr\mx:sgn(l ths

products to evaluate each expression.

d: TH312 3 ones + 1 tenth + 2 hundredths

~]

7 X 3 ones 7 X 1tenth 7 X 2 hundredths

9' + .-q + 0.14 =a"gq
b. 6xX4.25 _ .
Yones A Yens S hondred ths
G b x4 ones 0 X2 Yenahs| by S theusond
A4 ones 1L Aenns | 30 4howsarhls

a4 + 1.2 ¥ 0306 = 25.5

Lesson 11: Multiply a decimal fraction by single-digit whole numbers, relate to a ny
COMMON written method through application of the area model and place value
CORE' ‘ understanding, and explain the reasoning used. engage 1.E.9
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NYS COMMON CORE MATHEMATICS CURRICULUM ~ Lesson 11 Problem Set m

c. 3 copies OM-GS. '_l ONCS +_ C "‘fCT\'H\S + ; h\f’i’\dfﬁd _n\
3 x4 ones 356 -j‘-g““\b 3x5S hondied th s

iZonesS 12 Yenyhs 1S hundred ths
I & Duk & BLU8 = 1398

d. 4 times as much as 20.075

A tens  + Thundeedths + 5 Howsonddhs
g HXZ Aens HxT hundred ths | 4x5 thowsend ths
% tens A% hundeedihe | A0 Yhousond ths
30 + ©6.28 + 0.020 = 30.30= 30.3

3. Miles incorrectly gave the product of 7 X 2.6 as 14.42. Use a place value chart or an area model to help

Miles understand his mistake. b 5
'ﬂ\\s VS whese. m\\ffa mode N 5
Ms ok, He wroye 4o \\d{\d{fC\*]-}\S/

A one> + | .
'7:\2_“::3;, -7%:5;?: nsreod ok 4L Yenths.
7 (4 ones L'I?_ikemrhs AZ Yenvns 1$ Yones and L
. enns.

4 + 4.2 = 1%.2

4. Mrs. Zamir wants to buy 8 protractors and some erasers for her classroom. She has $30. If protractors

cost $2.65 each, how much will Mrs. Zamir have left to buy erasers? »ﬂ 2 9 0
2 cost of prof; ¥ 3580
i rstroctor s asers )
erascers - B 55
‘ ] 2 s an g ,n C‘S. S O
N e
4265

_ _ CS. de\F LU\“
2ones  + btenths 4 Shundwdshs M0 4G (N
bu..\_)s ecose(sS -

3 (6 ones  |[H4E Yenyns 4D hundred¥hs
"l 4+ 4.8 4 0.4D = 21.20

COM ON Lesson 11: Multiply a decimal fraction by single-digit whole numbers, relate to a ny
M written method through application of the area model and place value
CORE" understanding, and explain the reasoning used. engage 1.E.10
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Name Date

1. Choose the reasonable product for each expression. Explain your reasoning in the spaces below using
words, pictures, or numbers.

3. 25X 4 0.1 1 10 100
'Twen-¥j e Yenns x4 s 100 dendns -
\O8 denyns i1s Q.

b. 3.14X7 2198 219.8 21.98 2.198

T Know +he pcoduck hos Yo be R x7 olus
some mofe . The onswelr hos = ve
2\ and smme_--\\\\'ng~

c. 8x6.022 4.8176 48.176 481.76 4817.6

Prb =4% 2+ 0.022 15 rounded s % 0.0 .

Ly +we hundied hs s L6 Nundcred Yhs.
Bug + .l 15 close 1© e . V16

d. 9x548 493.2 49.32 4.932 0.4932
Q ¢5:45 Acounded NS o D,
qr5 = .45 US + 1.5 s Ha.s.
Wq . 85 s close 4o 44 .32

Lesson 12: Multiply a decimal fraction by single-digit whole numbers, including
COM.MON using estimation to confirm the placement of the decimal point. engage ny
CORE Date: 5/30/14
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NYS COMMON CORE MATHE:MATICS' CURRICULUM '.-9550“_, 12 Problgm Set m

2. Pedro is building a spice rack with 4 shelves that are each 0.55 meter long. At the hardware store, Pedro
finds that he can only buy the shelving in whole meter lengths. Exactly how many meters of shelving
does Pedro need? Since he can only buy whole number lengths, how many meters of shelving should he
buy? Justify your thinking.

K4 \ v T\\)t' = 55 m

" s o

| Qumls: dx.5Sm = .20 metecrs

| Shelf : _ﬂ.
35 m Pedro neecds exoctly Q.2 meturs o
ane\v AR He sholld bu\\j 2 meYexrs .

3. Marcel rides his bicycle to school and back on Tuesdays and Thursdays. He lives 3.62 kilometers away
from school. Marcel’s gym teacher wants to know about how many kilometers he bikes in a week.
Marcel’s math teacher wants to know exactly how many kilometers he bikes in a week. What should
Marcel tell eachzteacher? Show your work.

estimedion exact
\ vany 7 3.5Km L v} = 3.2 Km
Qomds F (4 K G omks = 14.4g km

L h
3.b2 km WMarce) showld 4\ Yus gym Jeocher he ndes

Aoouk 19 ke coch week - Be showld el s
o Aeoeher he ndes W9 F Km .

4. The poetry club had its first bake sale, and they made $79.35. The club members are planning to have 4
more bake sales. Leslie said, “If we make the same amount at each bake sale, we’ll earn $3,967.50.”
Peggy said, “No way, Leslie! We'll earn $396.75 after five bake sales.” Use estimation to help Peggy
explain why Lesligj(g reasoning is inaccurate. Show your reasoning using words, numbers, or pictures.

-

T e e

] “ﬁ—lq-BS con bi’.l eshmeyed
\od\e_. ~ £3000. Y RO LD s
w35 $40D. 00 . Leslhve chd not

es¥imole. corfeck \ 5, 3

COMMON Lesson 12: Multiply a decimal fraction by single-digit whole numbers, including ny
by using estimation to confirm the placement of the decimal point. engage 1.E.23
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Name Date

1. Complete the sentences with the correct number of units, and then complete the equation.

a. 4 groups of L\ tenths is 1.6. 1.6+4= O.l"
lo h’n-)’nj -' \-‘ = q 1\1"]‘\-“‘\5
b. 8 groups of LI hundredths is 0.32. 0.32+8= . OL‘] .
22 hundredths + §=4 hundred¥h s
c. 7 groups of ‘ 2. thousandths is 0.084. 0.084+7= . 0\ 2. _
34 Phowsondyns — 7= 12 Yhevsonyhs
d. 5 groups of L\ tenthsis 2.0. 20+5= 0 . L_:‘

20 teans - 5= 4 Yentns

2. Complete the number sentence. Express the quotient in units and then in standard form.

a 42:7= U2 tenths:7-= Q tenths = ll,'o

b. 264+2= 0-( ones+2 + _Gz L't hundredths + 2

‘ ones + 3 Za hundredths

« DL

1l

c. 1264+2= ‘2» ones+ 2+ (0"'[ hundredths + 2
= (a ones + 3 2. hundredths

: .32

Lesson 13: Divide decimals by single-digit whole numbers involving easily

OMMON identifiable multiples using place value understanding and ny
CORE engage L

relate to a written method
Date: 5/30/14
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e e BRI G

d. 426+6= qz— tenths + 6 + ‘O hundredths + 6
= _{ ‘\'CY\H\S + \ \\Oi\t\reéﬂ\
= B

e s236:6=_ 92 Yenins-=2b 1 3b thousandths ~ &
i | ‘h:n‘\*ks . (o Phous and -¥\r\5
©.1006

3. Find the quotients. Then, use words, numbers, or pictures to describe any relationships you notice
between each pair of problems and quotients.

a. 32+8-= L‘\‘ 3.2+8= D"}

The ;\rs\‘ %UD'\\EH\ & 0 hmes \avger Yhon the 56_003“&
DeCOWsSe. Yhe NWmpe we s%&ﬂreg wWith n Arhe Qws‘\’
one Vo 10 dwmes \arged dron the 284 one puky they ac bidh

e Awded inYe wa |
g1:9=__ 4 0.081:9= 0.009 Nl Sipdel in A\ pasts.

b,
"Y\\e;\fxfc ot bang dwnded v C{QQ\’-\S-‘T\\QQ\"&\‘ one s Bl ones, bt
e second &%) Mowsanins. 56 e answer Yo We fest 15
ONnes, Ihe answel 4o e Second s fhowsands: The
Ses ¥ nmber 15 000 ymes as \orge as the Se0cond SO

e answed 15 {000 tymes \argec .
4. Are the quotients below reasonable? Explain your answers.

oo NO ' ’\-\\g &Nl\de(} \S or\\j (ibo.nk’r (o 13\ »‘\0&\ ‘1_‘5
dwrded o 1 artsS” Ahe onswer muwst be \esSS
hon O whnole - ; |

No. These are Sbones ~ 1. We Showd 39_,\ T ones,
not B enwns .

b. 56+7=0.38

c. .56+7=0.08 .

Yes, Sk hundredshs + 75 ¥ hundred+hs, Dy G\SC’);
He omounk wWe SXofdpidh 15 Small. Yoy
ge\ﬁ A ded Ahe ON\3SW ex™ W eoen @o\.p\. S even
spaler..ST 1t makes sense..

COMMON Lesson 13: Divide decimals by single-digit whole numbers involving easily ny
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5. 12.48 milliliters of medicine were separated into doses of 4 mL each. How many doses were made?
(9 HME Y
= \L ones — 4 4+ 4% }\UV\(B\"C(\\JF\5 -‘-'q
= 3 ones + = hurdred ¥hs

2 0L doses were mode

6. The price of milk in 2013 was around $3.28 a gallon. This was eight times as much as you would have
probably paid for a gallon of milk in the 1950s. What was the cost for a gallon of milk during the 1950s?
Use a tape diagram, and show your calculations.

$3.2%

5 .28 %= ¢ -
= 32 dendhs + % + % hondedihe 8
= 4 denyns 4\ \rwndrec] ¥h

= 0.4\

MK cost %0 .U\ ga\\cm n he [ A50s.

c o MMO N Lesson 13: Divide decimals by single-digit whole numbers involving easily ny
identifiable multiples using place value understanding and
CORE relate to a written method engage 1.F.12
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Name

Date

1. Draw place value disks on the place value chart to solve. Show each step using the standard algorithm

s A236e8= YoV

Ones _ Tenths__  Hundredths Thousandths
" | .91 2
R R e e e el do% b @ '
v s \ Blg-2p B
Teaa e e = ,2_1 |
o eeeoe ® e o -\ 2 )
------------------------------------------------------------ 0 3
o 0o o © ¢ o e - 3 V¥
[ e ¢ O @ e @ C) E
0
b tamei=00G02.
Ones Tenths _Hundredths Thousandths
: -+ \ \ 0. bl &
) Lo T ot L b B FO F X
\»"i! ‘e % "o e » -\ 2 L
9o e 2 | qeoe® ——T %
T |ewwmm janwes |%® 3.
™ L] O L'
____________________________________________________________ L‘
"R NN K] °
» il L )

COMMON Lesson 14: Divide decimals with a remainder using place value understanding and
c RE.. relate to a written method.
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NYS COMMON CORE MATHEMATICS CURRICULUM

2. Solve using the standard algorithm.

 Lesson 14 Problem Set [EXFR

a. 078+3= 0.2 b. 7.28+%= [ £ c. 17.45+5=_3.49
0,32b | . 32 Lo e B
>10.78 4 17.28 5117.45
. L; _L.L{l - {4 L\
\ B4 =0
-1% 32 -t
O — 0§ 45
,.-—6- __L.\E)

3. Grayson wrote 1.47 +7 = 2.1 in her math journal.
Use words, numbers, or pictures to explain why Grayson’s thinking is incorrect.

LU47 =T connot egual &\ pecause & 115 greo;\-u- +Hhan
V47T when s Ahe numbDer Mok s bé\nf} dwrded -
Oraysen AWded V4 Fen¥hs ‘b'j Tond Aought +
was Wl wholes .

4. Mrs. Nguyen used 1.48 meters of netting to make 4 identical mini hockey goals. How much netting did

she use per gogl? = 3 _{ a
.48 m i k" N
L L“-?Tg | 48 =4=0.3Tm
2 -1 ZY
~— ' 2 She used 0.3Tm per jm\ :
\ goal g

O

5. Esperanza usually buys avocados for $0.94 apiece. During a sale, she gets 5 avocados for $4.10. How
much money did she save per avocado? Use a tape diagram and show your calculations.

4 4.10 0 .52 % 0. q4
e SR o
\ ¥ a | | 482 b 0.2
eeate :L%" she saves $012 (et
avcco oo -

Divide decimals with a remainder using place value understanding and

Lesson 14:
ggy-MON ' relate to a written method.
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Name Date

1. Draw place value disks on the place value chart to solve. Show each step in the standard algorithm.

a. 05+2= D: :715

Ones |e|  Tenths | Hundredths Thousandths
T D.3%
\s/he 3% d 2/10. 50
RN e
< i o ¢ ® 00 _ { g
i O
T ) o o0 @ o

Ones |of Tenths Hundredths ‘Thousandths
N . “\.
Rk wae R 2o
A
L] ¢ .
. * Ll AT \
o e 6 06 e e o0 00 @
] e © 0@ ® @ o0 ® 00
e o © o © e @ oo ® 0 @
COMMON | ‘=" e " engage™  1rss
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2. Solve using the standard algorithm.
a. 09:2=0.9S b. 9.1+5=|,%2 c. 9+6= (.5
V0. 90 Ya.lo oV'a.o
- 3L ;5_._- ~b v
10 4y i 30
=10, '-lo gt =
O 1O O
O
C)
d. 098+4= (O,285 . 93 6= i 55 f. 91:4=22.75
. AYC 0 ,Z—l, 5
4Yo. 980 Li Qb
— f b '._7, L ___‘l’_
| § 30 X
- 16 30 %
a0 - 30 _ \J/
- -2——@_- O ﬂl O
= 5

3. Six bakers shared 7.5 kilograms of flour equally. How much flour did they each receive?

1.5 kg
/—\___,_/\,_.__\‘
V]~ 16
e
?

Eoch bakef rccew’aé
\-25 K\ograms .

4. Mrs. Henderson makes punch by mixing 10.9 liters oPapple juice, 0.6 liters of orange juice, and 8 liters of
ginger ale. She pours the mixture equally into 6 large punch bowls. How much punch is in each bowl!?

Express your answer in liters.

0.9 %:0 6. b

“?f"
COMMON Lesson 15:
CORE- Date:

© 2014 Common Core, Inc. Some rights reserved. commaoncaore.org
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Name Date

Solve.

1. Mr. Frye distributed $126 equally among his 4 children for their weekly allowance.

a. How much money did each child receive? . 31.5
2 g2 =dunds 4l26.0
‘ J Lo = B2 +M Db
7 gt & 3
‘ 20
Eoch of M Frye's dldren - Ze
6@-\—5 & D150

b. John, the oldest child, paid his siblings to do his chores. If John pays his allowance equally to his
brother and two sisters, how much money will each of his siblings have received in all?

& 21,50

_F3S0 B350 Bund 220
J ] f { | umy = 31503 '
¢
’ 1050
A31-50
0300
Eoch of Iddns 5&)\1\35 qets
fu2.00.

2. Avais 23 cm taller than Olivia, and Olivia is half the height of Lucas. If Lucas is 1.78 m tall, how tall are
Ava and Olivia? Express their heights in centimeters.

- =S T%em + 2 34c
P\\]O\ l J CwW ™3 cmm

O\‘\\l'\&.r____ﬂm %C\ cm Y+ Adem = \\ o Ay

LUQQS'J - [ O\\\\ \Cn V5 R (ﬂ cm \(O*“ .
&‘\10\. g7 \\1(3\’\"\ )\-0{1\

COMMON Lesson 16: Solve word problems using decimal operations.
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3. Mr. Hower can buy a computer with a down payment of $510 and 8 monthly payments of $35.75. If he
pays cash for the computer, the cost is $699.99. How much money will he save if he pays cash for the

mputer instead of paying for it in monthly payments? -
o 50 Y&&. &0
a. BEREEIE SN T R
ms\&\\m@n\‘é] 310 f3sns ¢on | 3m1E 146 q¢ - 0|
‘ o
cash | ©49.99 |7 g

4, + 0.0V *Ge-0l

3tens  Sones THenins  Shundeed s

¢ ay 4o S Ho 0
tens ones Yenvhs  hondeed s M. \"C‘\U‘?‘f LRSS,
| . - _ sove 4 96.00 F
g\q{r/qo * <+/H0 = A8k he pmjs cosin
230 5,0

4. Brandon mixed 6.83 Ib of cashews with 3.57 |b of pistachios. After filling up 6 bags that were the same
size with the mixture, he had 0.35 Ib of nuts left. What was the weight of each bag? Use a tape diagram
and show your calculations.

¢-331b 3.57 |b
B\"C&T\d()n\s S o i T e
NixYure | C. P

i il Each bag cor\-’w‘m\u&

2 V.75 b of nuts.

/k/';—_—’—\:
NED b | 0-35|

% 1.5

L3> 10.40 (oY:_iE..P‘aO
357 ~0.3% S L
1620 0. 09 —26.g
-ﬂ s

S0
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 NYS COMMON CORE MATHEMATICS CURRICULUM  Lesson 16 Problem Set

5. The bakery bought 4 bags of flour containing 3.5 kg each. 0.475 kg of flour is needed to make a batch of
muffins, and 0.65 kg is needed to make a loaf of bread.

a. If 4 batches of muffins and 5 loaves of bread are baked, how much flour will be left? Give your
answer in kilograms.

.
e — %5
X Y
\—é".\g“""’ 3 4.0
|4.00
: , . = B.%5
L ™M l & ﬁt.a-&l‘ﬂ-J 2.35
Yx 0418 8% Oy o
©.415 0.65 .40 %'3\? ‘:)9 ‘ig’gi\w(
- X S Ri25 T e A
1,400 24,25 5:15

b. The remaining flour is stored in bins that hold 3 kg each. How many bins will be needed to store the
flour? Explain your answer.

8-85
\d ;,EQSS
“:_C_?_‘

.3

6
‘5

us
P

o

'&

T\\T% bwms are neec\ed 4o 6)(6(& e 'remeum-ng
Plouc. AN +heee bins wil) not be Cemple}ﬁ\y
Filled .

Lesson 16: Solve word preblems using decimal operations. n
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' NYS COMMON CORE MATHEMATICS CURRICULUM

Name ZEH;H

- Mid-Module Assessment Task [EXF)

1, -l;omnam using >, <, ar =,

Date ;

04 0127

b. 2thousandths ¢ 4 hundredths @ 0036

¢. 2tens3tenths 1 thousandth @ 20.31

d. 24 tenths 2.5.

. 4x10%+ 1:1-ﬂﬂ_+3x-l5; @ ¢n1doo+zxm?43g-i'3

L3
F- 3\"'—6"’4

L 3
*Tono @ D30

‘2. Mpdel the numbes B.82 on the place value chart.

I

[ ] 1
"% Fou'S

T X

LR i--p_tl anednd] poaoas

3. Use words, mumbers, and your madel to explain why cach of the dlgits has a dilferent valuwe, Be sure
{0 lise “tea times as large” and “one Lenth as karge” in your axplanation,

% 84

T SRR TR
This 15 Brner
3l
3w

COMMON ‘ Module 1:
CORE

Date:

® 2014 Commen Core, Inc. Some rights reserved. commoncore.ong

Bven though there are B dicke i eoch column,
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_ NYS COMMON CORE MATHEMATICS CURRICULUM ~ Mid-Module Assessment Task m

b. Multiply 8.88 x 10°, Explain the shift of the digits and the ¢hange In the value of each digit.

8.3 x 10" = 3%,%00 _
Whan rm'l-H?lainj by 109 2ach &-ra.-l-

cwiles M Ph-us 3o Ha leftt. 10¥ Q:H_;..lc

| 3i%1% s
wlt Y QO xid ;_I‘Da'!.ﬂ yor 10,600, fo eackh dqs'i‘
B3 |e|D | becowmes 0,000 +rmes ot 1:-'3;.

. Divide the praduct from (b) by 107, Explain the shift of the digits and the cha nge In the value of each
digit.

938,900 v 10" = §%3

3. Rainfall collected in a rain gauge was found to be 2.3 ¢m when rounded to the nearest tenth of a
centimeter,

a. Circle all the measurcments below that could be the actual measurement of the rainfall.

b. Convertthe rounded measurement to meters, Write an equation to show your wark.
2.3 >10*= 0.023

1.5¢emz= 0.0Ll3m

Module 1: Place Value and Decimal Fractions
ggg!MON Date: 5/29/14 eng ag' eny
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NYS COMMON CORE MATHEMATICS CURRICULUM Mid-Module Assessment Task [EX5)

4. Annual rainfall total for eities in New York are listed betow,

Rechester 0.97 meters”
Ithaca 0.847 melers
Saratoga Springs 1.5 meters

Hew York Cly 1,268 meters

Put the rainfall measurements in oeder from least to greatest, Write the smallest tetal rainfall in
word form and expanded form,

0.4 m 0aTm 1. 26T o T v

) |

nine Nundred ‘FOM- Sevewn Hagug madding
[ |
q 1'{'5. + Y 1‘1'?;‘; + T x it
b. Bound each of the rainfall totals to the nearest tenth.
0.4 Ta% 1.0 m
U.qq"t o= ':.': a:i‘f\“-‘
1.268mx 1.3

. |magine New York City's rainfall is the same every year, How much rain woufd fall n 100 years? .
1.26% p »100 = 126 T m

126.3 v weuld fall in |00 yeors,

d. ‘Write an eguatian using an expanent that would express the 100-year total ralnfall. Explaln how the
_digits have shifted position and why.

1.26% m v 107 2 1263 T

Eacn digt shi% 2 plecet o o 0.2 » 100 = Z€
tae left when iRy ing b T o.wk wloe = b
The valte of todn Jﬂﬁ"f becsmes o.00g xioo = O.%
lﬂﬂ; Yimeg O l“*j"—*

Module 1: Place Value and Decimal Fractions
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NYS COMMON CORE MATHEMATICS CURRICULUM End-of-Module Assessment Task (101

Name 'F\u:\“‘n“L Date OC+ L

1. The following equations involve different quantities and use different operations, yet produce the same
result. Use a place value chart and words to explain why this is true.

4.13 x 10° = 4130 413,000 + 10% = 4130
] th
Thl H [T|0] 10™] 1og™] |Tw | T [Th |H (T 04&’_&0&
3 | 4t .1.03.42]/°]°
H% ‘;fd 909
i I Aicife)!
L L L

\Uhc_n i mu.Q-* ?\\LA ‘l‘e\.n. o\\ (\‘5 mouc.d 3 P \laces
Ao the lelt, becasise “Hrw_ AR LO e
T oivded, —an_ O\\s"ts ™ 0& 2 p\a..cu:-, “o
rfiaWt, because th ey Oecreased.

2. Use an area model to explain the product of 4.6 and 3. Write the product in standard form, word form,
and expanded form.

Y . b
2x Yones: 3% b
tenttss

3 2. ones 18 -tgﬁﬂ,s

22 4+ 1.3 = 138
i Yeen and e_AS WY “esths

lx\o+3xl+‘8xm

Module 1: Place Value and Decimal Fractions
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NYS COMMON CORE MATHEMATICS CURRICULUM

3. Compare using >, <, or =.

2 tenths + 11 hundredths

13 tenths + 8 tenths + 32 hundredths

342 hundredths + 7 tenths

1 p 5
2+31¥;~6+14Xm

1
1000

14+ 72 X —+4 x
10

0.3x10% +0.007 x 10°

0.13

3 + 49 hundredths

2.324

21.24

0.3x10+0.7 x 10?

©» oo © © O 0
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NYS COMMON CORE MATHEMATICS CURRICULUM  End-of-Module Assessment Task ' [0

4. Dr. Mann mixed 10.357 g of chemical A, 12.062 g of chemical B, and 7.506 g of chemical Cto make 5
doses of medicine.
a. About how much medicine did he make in grams? Estimate the amount of each chemical by
rounding to the nearest tenth of a gram before finding the sum. Show all your thinking.

4

A 10.35'73"‘- 1O M q 'O-"I‘ Dr. Maian ™mode
e 28
2 12 OG'L:‘?- iy . 3 L ,__'1.5__ aboux BO 3‘-%

30.0 of aedicine.,
. T 5061‘1’- 1.53

b. Find the actual amount of medicine mixed by Dr. Mann. What is the difference between your

estimate and the'actual amount? .
'ﬂw_ d ' QPQ.Q&\ e

1.9 19
0. 57 L. QRO n Yhe esHimated

12.. 02 - 29,925 Sl SN Y
A 1.506 0.015 omounts s

21,922 ©.015 %ra_.ms.

c. How many grams are in one dose of medicine? Explain your strategy for solving this problem.

5935

5)22.92.5 | wsed e ot Wi
49 Yo find m-.S ;ls&ﬂ

15 There ose 5.989 gmwls ol

wedicwne \n one olose.

)

d. Round the weight of one dose to the nearest gram.

X
5 .°\%53 o ]

Module 1: Place Value and Decimal Fractions
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